bO47%

b

3334J3IIbLLLOLLLLLOGDIIINGLLLLY

o Sechon  13.6 - M.l Revewr  Soludions P

Sechion 12.6  Bdditiond ExcCises

1.| The hnpe/(bo\o}cl e arc 8Nm has c%uwﬁc\n .
—Xi'qtjl-* 25 2_1 i <

X+ %31 =255 ) &
) \
t\:{L ‘15
Fo P 65‘5 we s ﬂncot \'\\\5 3 O {'wo S%ce}(cd
Ped“eo\o\d ek doces o't OO’\‘\‘a\f\ 3 OV\B
(,-J\rposc 2 — Loordhn sohsfies — s ¢ 2¢ l/5

50, Pre \n\'orscc}lxm [ CW\()\(} gr\o(‘ Vg L\'\,L‘/5_
Foc a Sixed W ovtside Zhis Wa"' we hewe s

S m

Oof\‘a)tow\*
foc h  ouksidl Ahls vewge Fhe iwSersecon

%0, ‘
P:_ S CA N 6‘/‘4—‘36’6»



-y

.,aa.vQ&wubﬁbi‘dbi’iﬁbbbb@“i&ij}l]ll-x‘l_ii

a 2edion 137 Adddonad Exercists

I Convery (1, M2 -7) Gom uj(gno\n“ca& Yo
“Cu“ancrxl a OOoro\-\r\at(S .

x = |+ ws(W2) = O
c= A

oL Convert (l,ﬁ“l) Frown rcd’ancaw(a(‘ Yo
O«a\'\ ~An M coocdhinctes,

| £ PR U O (Y SR T

Yarm©o = ‘.d/x,__\ﬁ/ = 3 i 4
\
o = T3 or 3 1|V N
%

The corcech  dhoice s O =T3 becawsc
e Pmdc(fuoﬂ (\ ‘ﬁ : 0) les 1w Yhe
sl q/ocko\mw\—\’.

[6:7we gk (0= (Q,WSI/“'\U

o

b



> s
3. SkeAch the s r=sino descrbed (n (,U‘\‘nolﬂ'(;oup
Coordmake 5

dx w0, Then ©-0 O0c T ond we
hek  c=sixs  desceibes  exadly A z-ohds.

1§  #=O0 ,+\'\(/\’\ \Jt‘:\mg e eAahiins
C = W a3 S1nG = 5/( ! ran 8’()‘

C<sw (9 &
Tatud = WL =
9" -2 @%} &

S0, Pas  Aeseries o Ider | Cainkinbek - et
(0,-42) of wndws Mz,




U, Convert ( 3,0, T2 ) Yrom 5(7%()1‘\ cal O

i c L..A'uﬁ%u.llk( L’(),_-,,zlq.-v».u,,. S .
&
Wi P P e CR 'nm(“u) % 0) %
RRY G Qe NG S L () = ©
F d /} ¢ 4) ‘ 3 « (OS5 (G‘L) = O

—

(501 we A»( (ergr2) = (3,0,0) |

___,....—-_..—-—-1——-

5 Convert (l,!,\) From r(u'ronzwlaf Yo Gphm’wx

coordin
q /).; ﬁlrv‘u} = N3

ton =Y - | - &=y of 57y, 5L
X e Py cub»of‘ (\ ) in 17 Quedirens

C-«)ﬁd) - _‘_Z; o3 __I_
TS
Siree Qé‘bé-‘_\ il rust e (p = s ( ZS;))

16

mad (p,o, )= (¥3, W, .%ﬂ




@ P5
@

C()\'\v-e/r{‘ (2) O, 7—) g"r\‘JVﬂ C*(r)\\\'\o\(\ ("‘"’\ \-O
")?\'\ﬂr’\ (.-»t\a\ L,.O('.)(d \mu}( 2 P

Cb\\ho\riccu( (ﬁr'le"z,) ) Sehonwf CD‘&‘ (b)
p = vyt o P (TS e L

Goatpia e o ! b= Ty
) E At

-
@-::(9’ = 0.

‘,urcazr-/f (3"’:{/ O'W/m

)

Sectuwon 140 -14,2. SoluMeas
c(k) = {ant, 0, Ut cos £Y = {o,0,uy + {si~t 0, Lost)

The ciccke has vmdws 1, (b 5 condired ok (0,0,M)
and kO corkiined e 'X'z—f)\ane.

i?: ol . Siece.  Mhre Vine is verhwd s d_\rrd?ccm@\[\m
r‘. \(ecﬁ),f S Pa(zvud to  HAhe 20X\ 3

a
~-N
=D
N

bt e GO D0, A PomMﬁwﬁm (s
C [i(” 7 (3»2107 5 <Ol 0, ‘7 = <3,Z't> | "UOZ{;};-




PPV IDIDOLNNIVVVIVIVIIIIIIVIVVIIIIWIOVHEY

@ PG

S T he oich S it 0 b porhee XL 1,6 G
O P\(AY}C PO\'(M *’0 ﬁ’\-(, b‘z— Plunc.

c(b) = £1,2,5) + £0,2wos 25ty
el

s
oo

radivs

we pur  2wesk, 2wk n the wnd T

U&’Jorc)x(\zna}?{‘) 6r~(,< ‘\‘\'{ C\(’(l{ \9 LQ)(;@MJ t\)*ﬂr\(

Lbz Q\oon(,
e T Latid nok vy

O £EE2

4 . The  niotsecbive  of Hreisurbaces
3’\1”’ =x—-2  ond éznf =9 vy
\3:{: 05 o Parom\e)wr.
561*\\'\3 %:t o i e " B Bk
@\uaﬁ\r\} ko Yre Resk cc‘,va)ﬁ)bv\ (j\\res-.
= + {9 ES)y2iaguy =
b AT = A ten e civeselt bl ul ety

vaied F\N\O’m}f\r +0 ‘Om’?ﬂmdf\u fhe inter secon
Ly



o) = 247, +, 9=t ) and
Cbbhe ot g v e 1

MO‘*C ok \,q-Q CON Pum ﬂ\x)"dGC. SA~e

’\r\){f/‘(f;(djzw\ s\ e~gh € C,g_h_")‘/ v ahrredl
(:mdium Vs 3 Po\a.r wod“f\o\k(ﬁ as oM
e - 7 03,

5. e (B =zt 3E, 1)

6. (e () - ()= v (B (8) v (Ve (B)
oUb

Pmduuu\ roke for (/clro%\J PmdNJ‘j

= {2k 3¢5\ - {oiw €0~
<{’» £3/L> ”(36 17-€L I€b>

2 T ha gl ke e SRt (GO e *

(2t +3g2)e’Sr B 28)e () + {;)efJ




P.3

g% (e, (8) =0y H:)):Ell({-)x e, ()] +[e, () x (1\“7)1
[pf'()cb\‘d vule Fo(‘ Cro35 Pmol,qof-jj

1t i 3 +
= <?>tlet—zte S ctjex%&,c*-#ef «Z%c*’/

2 bCZt_* Z{—,Zcu.&tlc% Y Lsc% c >

i (rxe) =[x 3L oxct]
[:Prod(/ud‘\q,\/(c;q O (Jf‘DO(A)U('J
O [rxr\\l

L_‘sincC uxv=0 (FfF wWw=AN C'=r' so O(ca(l@
; )
r'xr‘:ol




